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8 — 8 Differences of Squares

! Chy %IlockPolm

A. Determine whether 9x2 —12x + 16 is a perfect
square trinomial. If so, factor it.

. yes; (3x - 4)?
. yes; (3x + 4)?
. yes; (3x + 4)(3x - 4)

. not a perfect square
trinomial





image8.png
8 —_ 8 Differences of Squares

@ check Your Progress,

B. Determine whether 49x? + 28x + 4 is a perfect
square trinomial. If so, factor it.

. yes; (4x - 2)?
. yes; (Tx + 2)?
. yes; (4x + 2)(4x - 4)

. not a perfect square
trinomial
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8—8 Differences of Squares

%heckPoint

B. Factor the polynomial 4x? + 10x + 6.

A. (3x+2)(dx +8)
B. (2x+2)(2x +3)
. 2(x+1)(2x + 3)

. 2(2x2+ 5x + 6)





image10.png
8—8 Differences of Squares

Factor Completely

B. Factor 16y? + 8y — 15,





image11.png
For Problems 7 - 25, factor completely:

7.92% + 6z +1

10.

13.

16.

19.

22.

25.

162> + 40zy + 25¢°

3622 + 60y + 25¢°

252% — 302+ 9

2522 — 10zy + 2

182° + 242 + 8

504° + 20y° + 2y

8. 922+ 12z +4

11.

14.

20.

23.

927 + 30zy + 25y

4% — 20z + 25

. 92 — 122y + 4y

4922 — 562y + 16y>

9z° +62% + =

9. 252° + 10z + 1

12.

15.

18.

21.

24.

2522 + 20y + 4>

162 — 562 + 49

162 — 40zy + 25y°

122° — 122+ 3

2503 — 102 + =
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Practicing Factoring Perfect Square Trinomials

For Problems 1 - 6, just determine if the given trinomial is a perfect square
trinomial. That means that its factored form will be the square of a binomial.
Just answer "yes" or "no.” Do not factor!

1. 2502 4 10z — 1 2. 2522 + 10z + 1 3. 16y% — 40y= + 2522

4. 922+ 122 —4 5. 92+ 10z +4 6. 362°—50xy + 25y°




image13.png
(x*—3)2=x*-6x>+9

(K2 +9)% = k* — 18k2 + 81
(2a + b)® = 4a® + 4ab + b?
(3u —2v)? =9u? — 12uv + 4v?
(8a + b)? = 64a° + 8ab + b?
(c? - 6d%)? = ¢* — 12¢c2d? + 36d*
(2xy — 5)% = 4x°y? — 20xy + 10

4x* +8x% +1
a’+2ab + b?
4m? + 20mn + 25n°
9a° — 27ab + 9b?
100u? — 60uv + 9v?
100a2 + 20ab + 4b?
9x* + 6x%y2 +y*
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-—<==x Why Did King Kong Eat a Truck ? ras=—

Circle the appropriate number-letter pairs in each column. Write the letter in the matching
numbered box at the bottom of the page. (Hint: You should circle 11 number-letter pairs
in each column.)

Circle the number-letter of Circle the number-letter
each TRUE STATEMENT: of each TRINOMIAL SQUARE:
(85| x+22=x?+4x+4 [6-A | n?+6n+9
[13E (a—-5)2=a>-10a+25 Ex2—14x+49
[10-A] (u+82=u?+16u+64 (3R | a®+2a+4

| 2-H | (m—4)?=m®—16m + 16 7-Y | c®+2c+1
[18-G| (3x+1)2=9x? + 6x+ 1 12-B] k2 — 5k +25

| 14-D | (5t—2)°=25t° - 20t + 4 |21-C| x*—12x+36
[4P | (2b+32=4b2+12b+6 [3-A]arP+12t+9
[20-A] (2n +7)2 = 4n?+ 28n + 49 [12-T] 81x2 — 18x + 1
[ 2 | (10d - 4 = 100> - 80d + 16 17-L] 4m® +8m + 16
[ 5K | (8x—1)2=16x>—16x+1 [16-B] ow?— 24w + 16
[ 7R | (4w +5)2 = 16w + 20w + 25 9-F | 2522 —45t+9
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7.

11.

15,

19.

23

. z(3z +1)?

. no 2. yes
(32 +1)° 8.
(3z +5y)? 12
(e —7)? 16
(5z —y)* 20

24.

3. yes

(3z +2)?

. (5z +2y)°

. (5z —3)?

. (Tz —4y)?

z(5z —1)?

9.

13

1

=1

21

25

no 5.

(5z + 1)

. (62 +5y)?

. (32 —2y)?

. 3(2z—1)2

. 2y(5y +1)?

no

10.

14

18

22

. (4z + 5y)?

. (22 —5)?

. (4z —5y)?

. 2(3z +2)?
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8—8 Differences of Squares

Over Lesson 8-7 %ﬁeck?oim

@ Factor 2¢c? - 17¢ + 36, if possible.

. (2c+6)(2c - 8)

. (2c+6)(c-8)

. (2¢-9)(c-4)

. prime
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8—8 Differences of Squares

Over Lesson 8-7 wlnckhim

B Factor 5g° + 14g — 10, if possible.

A. (5g+2)(g-5)

B. (5g-2)(g+5)

C. (5g+2)(g-7)

D. prime
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8—8 Differences of Squares

Over Lesson 8-7 %ﬁxkpoim
Standrcised vest Practice

@ Which of the following does not have a product of
18b%-3b - 1057

. (2b-5)(9b + 21)
. 3(2b-5)(3b+7)
. (2b-5)(3b+7)

. (6b-15)(3b+7)
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" KeyConcept Factoring Perfect Square Trinomials

Symbols a2 +2ab+ b? = (a+ bfa+ b) = (a+ b?
—2ab + b? = (a— b)a— b) = (a— b)?
Examples X2+ 8X+ 16 = (X + 4)(x + 4) or (x + 4)?
—BX+9=(x—3)(x—3)or(x—3)?
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8—8 Differences of Squares

Recognize and Factor Perfect Square
Trinomials
A. Determine whether 25x? - 30x + 9 is a perfect
square trinomial. If so, factor it.
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8—8 Differences of Squares

Recognize and Factor Perfect Square
Trinomials
B. Determine whether 49y? + 42y + 36 is a perfect
square trinomial. If so, factor it.
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